Program Are. escriptions High School Educational Specifications

Overall Building Compilation of Space

7	the Come Nimb	Not to Cross: 1704 of Brogram Aron or 7004 of Total is approx
245,717	18	Fotal
72,677	42%	Building Services, Circulation, Restrooms, etc.
173,040		Sub Total Programmed Areas
3,050		Custodial / Building Services
11,600		Cafeteria / Food Services
8,835		Welcome Center/Administration
6,950		Media Center
2,675		Large Group Instruction
4,500	2	JROTC
22,900	5	Gym / Physical Education
9,000	4	Music/Performing Arts
3,300	2	Visual Arts
20,600	12	Technical / Career Education
4,180	2	Special Needs
2,850		Decentralized Administration
72,600	54	Learning Communities
Total	TS	
		>)ialce
ested	Suggi	
が住宅のでは、おければないないなどのであるとなっている。	世代の人の行名の名のは、これは、これの自己の対象の対象のないできないのか	

Net to Gross: 42% of Program Area or 30% of Total is approx. the Same Number

12,100	9	Learning Community
Total	TS	Future Expansion
18,470		PE / Gym
13,200	:	Music / Perf Arts
Total	TS	Locally Funded Initiative [without State support]



Program Areas Compilation of Space

Core Academic Learning Community

Plan A: Centralized Career / Tech Ed

72,600			54	Totals Core Academic Area
6				Number of Clusters
12,100			9	Cluster
400	200	2		Student Restroom (male / female)
500	500	⊢		Teacher Prep
150	150	H		Instructional Material Storage
1,500	1,500	L .		Student Production Center [Decentralized Media]
300	300	p —▲		Science Prep/Storage
1,200	1,200	ļ		Science Lab - Shared
1,800	900	2	2	Science Classroom
850	850	L	Ľ	Resource Room
300	300			Small Resource Room
5,100	850	6	6	Classrooms
Total	SF	Quantity	TS	Core Academics
	uggested	Sugge		Learning Community

2,850			Total Decentralized Administrative Area
3			Number of Decentralized Areas
950			Each Decentralized Area
100	50	2	Staff Restrooms
300	300	F	Work/Copy
300	150	2	Office
250	250	}	Conference Room
			Decentralized Admin (3 Areas Shared btwn Clusters)



Program Area scriptions
High School Educational Specifications

Plan B: Integrated Tech Ed Thematic Focus Program Areas

Learning Community		Suggested	sted	
Core Academics	TS	Quantity	SF	Total
Classrooms	6	6	850	5,100
Small Resource Room		1	300	300
Resource Room	1	1	850	850
Science Classroom	2	2	900	1,800
Science Lab - Shared		1	1,200	1,200
Science Prep/Storage		1	300	300
Tech Ed/Thematic Focus Area	2	2	1,200	2,400
Student Production Center [Decentralized Media]		Ľ	1,500	1,500
Instructional Material Storage		1	150	150
Teacher Prep		₽	500	500
Student Restroom (male / female)		2	200	400
Cluster	11			14,500
Number of Clusters				6
Totals Core Academic Area	66			87,000
Decentralized Admin (3 Areas Shared btwn Clusters)				
Conference Room		1	250	250
Office		2	150	300
Work/Copy			300	300
Staff Restrooms		2	50	100
Each Decentralized Area				950
Number of Decentralized Areas				3
Total Decentralized Administrative Area				2,850

Total Decentralized Administrative Area

3 2,850

Technical / Career Education

Plan A: Centralized Career / Tech Ed

20,600			12	Total
2,400	2,400	1	!	Career Tech Ed Program TBD
1,500	1,500	<u>.</u>	1	Graphic Arts
3,000	3,000	μ.	1	Agriculture
3,000	3,000	1	⊥ *	Manufacturing
2,000	2,000	Ľ	₽	Project Lead the Way
3,000	1,000	3	3	Business / Marketing
1,200	1,200	Ľ	1	CADD / Web Design
850	850	} ————————————————————————————————————		Staff Office / Storage
1,400	1,400	1	1	Media Lab (Yearbook / Newspaper)
850	850	1	1	Computer Lab
1,400	1,400	1	1	Video Production
Total	SF	Quantity	ST	
	ested	Suggested		Technical / Career Education

Note: Some of these areas may be incorporated into the Core Academic Areas See Plan B

Plan B: Integrate Tech Ed Areas into Core Academic Areas

6,000			2	Total
3,000	3,000	14	Ţ	Agriculture
3,000	3,000	1	1	Manufacturing
Total	SF	Quantity	TS	
	Suggested	Sugg		Technical / Career Education



Special Needs

Special Needs		Suggested	sted	
	TS	Quantity	SF	Total
Self-contained Classroom	2	2	850	1,700
Restroom/Shower		1	100	100
PT / OT / Recreational Therapy		1	300	300
Life Skills		1	500	500
IEP Facilitators		2	120	240
Conference Room		1	300	300
Teacher prep		μ	240	240
Office / Reception		μ.	200	200
Storage		2	150	300
Ancillary Office - Speech Language Pathologists		.	300	300
Special Needs-Sub Total	2			4,180

Note: There are 6 Special Needs classrooms in the Core



High School Educational Specifications

Visual Arts

3,300			2	Visual Arts Sub-Total
	See Career / Tech Education	e Career / T	Se	Digital Art Lab
200	200	1		Office
400	200	2		Storage
100	100	1		Kiln Room
2,600	1,300	2	2	Art Lab
Total	SF	Quantity	TS	
	ested	Suggested		Visual Arts

Plan B: Move to Core Area

Music and Performing Arts

Music / Performing Arts		Sugges	sted	
	TS	Ouantity	SF	Total
Choral Room	<u>, 1</u>	Ĺ	1,600	1,600
Storage (Robes, Music)		-	500	500
Band Room	1	1	2,300	2,300
Band Storage (Instruments, Music)		1	500	500
Practice rooms		4	50	200
Restrooms		2	50	100
Offices		4	150	600
Drama Classroom	1	1	1,600	1,600
Dance Classroom	1	1	1,600	1,600
Music/ Performing Arts Sub-Total	4			9,000

Control Booth Auditorium Stage Scene Shop Storage (Costumes, Props) Locally Funded Initiative Sub-total Make Up/Dressing Locally Funded Initiative [without State support]
Auditorium Seating (800 seats) TS Quantity Ş 200 3,500 1,200 7,200 300 500 13,200 Total 3,500 1,200 ,200 500 200

Note: PSFA does not fund auditoriums



Gym / Physical Education

22,900			5	Physical Education Sub-Total
1,700	850	2	2	Health Classroom
200	200	Þ		Laundry
200	100	2		PE Staff Toilets/Showers
800	400	2		PE Office/Conference
7,000	7,000	I →	⊥	Auxiliary Gym
1,000	Varied	Multiple		Storage
				Seating included in above: 2000 seats
12,000	12,000	1	2	Gymnasium
Total	SF	Quantity	TS	
	sted	Suggested		Gymnasium / Physical Education

Note: Some PE/Athletic facilites will be located in main building. Others located near athletic fields

18,470				Locally Funded Initiative Physical Education Sub-total
600	600	 		Concession
2,400	600	4		Public Restrooms
2,000	2,000	₽		Athletic Field Storage
150	150	Ľ		Athletic Director's Office
220	220	P*		Athletic Director's Storage
300	300	j-at		Concessions
200	100	2		Coaches Toilet/Shower
600	300	2		Coaches Offices
500	500	 -		Training / Rehabilitation / Cardio Lab
2,000	1,000	2		Athletics Shower/Locker Room
3,000	3,000	1	P	Weight Room/Fitness Area
2,500	2,500	1,1	₽	Multi-Purpose/Wrestling Room
4,000	2,000	2		PE Shower/Locker Room
Total	₹	Quantity	ST	Locally Funded Initiative [without State support]



JROTC

4,500			2	JROTC Sub-Total
350	350	Ţ		Cadet work / reception area
100	50	2		Restroom
150	150	1		Secure Armory Storage
300	300	Н		Office with divider wall
900	900	ļ		Uniform / Wardrobe Supply / General Storage
1,800	1,800	 	1-4	Classroom with divider wall
900	900	1	<u>—</u>	Indoor Practice Facility / Marksmanship Range
Total	SF	Quantity	TS	
	ested	Suggested		JROJIC

Large Group Instruction

2,675				LGI Sub-total
175	175	1		Storage
2,500	2,500	ļ . i		LGI [175 seats]
Total	SF	Quantity	ST	
	Suggested	Sugg		Large Group Instruction

Media Center

275.00				ייומטים כמוונמו למני וכימו
6.950				Modis Contor Sub-Total
1,000	500	2		Project Room
1,000	1,000	1		Open Computer Lab
100	25	4		Hub Rooms, distributed thru Bldg
300	300	!		Telecommunications Room
400	400	Ľ		Workroom/Storage
150	150	,_		Media Specialist Office
לץ	In Each Learning Community	Each Learni	In	Student Production Centers
4,000	4,000	1		Reading Room/Circulation
Total	SF	Quantity	ST	
	ested	Suggested		Media Center

^{* 6} Student Production Centers. One in each Learning Community



Welcome Center / Administration

8,835			***************************************	Total Welcome Center
3,000				Total Guidance
250	250	1		ו או
100	100	1		Testing packet / storage
100	50	2		Restrooms
250	250	1		Work Room
250	250	1		Student File room
200	200	1		Lobby Area
100	100	-		Secretarial Area
750	150	5		Counselors' Offices
700	700	1		Career Center
300	300	1		Reception
Total	SF	Quantity	TS	Guidance
5,835				Total Administration
80	80	1		Records Room
600	600	1-1		Book Room
400	400	11		Copy Center
700	700	1		Health Clinic
120	120	1		Kitchen Area
300	100	3		Other Offices
120	120	1		Bookkeeper
150	150	۳		Resource Officer
100	50	2		Staff Restrooms
150	150	1		Storage
300	300	1		Mail/Work Room
500	500	1		Conference Room
450	150	3		Assistant Principal's Office
225	225	1		Principal's Office/Rest Room
240	80	3		Secretarial Area
200	200	1		Executive Secretary
600	600	1		Student Containment Area
600	600	1		Reception
Total	SF	Quantity	ST	Administration
	sted	Suggested		Welcome Center / Administration



Program Area Descriptions High School Educational Specifications

Cafeteria / Food Service

Cafeteria / Food Service		Suggested	sted	
	TS	Quantity	SF	Total
Kitchen				
Preparation Area		<u> </u>		
Serving Area		·····		
Dry Food Storage		·		
Cooler/Freezer		<u> </u>	3,500	3,500
Ware Washing				
Kitchen Mgr Office		!		·
Restroom		J		
Lockers				
Cafeteria / Student Union		H	6,000	6,000
Table & Chair Storage		Ľ	300	300
Staff Dining w/Vending		ľ	600	600
School Store		낟	700	700
Club Areas		⊢ ⁴	500	500
Cafeteria break room		-	300	300
Commons		1 1	4,000	4,000
Food Service Sub-Total				11,600

Custodial / Building Services

3,050				Custodial / Building Services Sub-Total
	side	Outside		Loading Area
750	750	ļ		Lawn/Maintenance Equipment (Outdoor Storage)
400	200	2		Locker Room/Toilets
300	300	ш		Office/Planning/Meeting Area/Break Room
600	600	⊢ ª		Maintenance/Repair Area
1,000	1,000	i i		Receiving/Storage
Total	SF	Quantity	TS	
	ested	Sugge		Custodial / Building Services